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Determine whether the following sequences are convergent or divergent.
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D. (1) convergent (2) convergent (3) divergent
E. (1) convergent (2) divergent (3) divergent

. In vo 2
ﬁov —f; — ) — -sz 2 ¢ : ~a,\: - ~
wipe Sw| o Bpitaly SW.) 3 3 peleid
™
ﬁﬂv AS“’:W ﬂ-ﬁ'—-* .l- - .l— | f— . l.—
nzy o ¢, ¢
ngk 34.0-..&. q(:u.lrt.o. o ngy Limit ¢ao Aov
gl ’
(3) _.)) " nnﬁﬁ.w.'d - _...c.) §ia ’V o ° -s-.s ,
" po "o 0 Ilmallll > Ohvu.mﬁah ok
d
- ~..>\. oana.....-n C e inn 4
od = (7% Y T :
e |.||v[b|...k o sll) Tastn 2
tony

" on



